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Answer all questions -
PART A
Llst out the errors i cham surveymg

“Differentiate between whole circle and. Teduced beanng'.
Define the term levelling .

‘What 1s the purpose of pantaoﬂph')
: _.\\r hat 18 meant by fly levclmg’-’

vw“« o §<> S

e T 'j_-__ (5x2=10)
< PART B - - &
Answer any four quesiwns

L4 6: -:’i stecl tqpe 20 m lonor c;I:andr;u‘d1sc:d at 550 F wafh a pull of 10 kg was used for"_
7 measuring a base line. Find the correction. -per tape, Iength il the temperature at the -
© time of measurement was  80° F and the pull-exerted was 16 kg. Weight of one
cubic centimetre of steel=-7.86. g Weight of tape =0.8 kg . Moduilus of elasticity of
- sted =2 % 106 I\fr»’cm2 Cocfﬁc=ent of expcnnmon of. tape per 10F= 6. 2 X 10¢

..'_‘:‘J w

o7 he tab‘e betow gwes the Ienuths and beanngs of the lines of a traverse ABCDE, thr‘ i
“~length and beari ing of EA ha\rmg been omitted. Ca]culate the length and bearing of

me line EA
: ~ Line : - Length{mj} N Bearing . |
; CABe T ) 60 -0 - F o Bia0 )
; BC L2260 269207 ]
: _ CD i~ 187.0 i . 280°00°
| - - DE- 77920, 210080’ |
P . EA i 3 i P m_u

5. A level sct up an estended line BA in a position 70 metres from A and 100metres
[rom B rcads 1.684 on a staff held at A'and 2.122 en a staff held at B, the bubble
having been carefully brought to the centre of its run before each reading. It is known
that the reduced levcls -of the top of the pegs A and B are 89.620 and 89.222
respectively. Find (a) the collimation error and (b) The reading that would have been

- obtained had there been no collimation error. :
9. ‘Sketch and label a typical theodolite.
- 10.Explain trapezoidal and prismoidal formula.. :
" 11.Dillerentiate betwéen check line and tie line - ' {4 x5 20 Markrﬂ

Turn over



PART c

___"12 (:sr_] erte ‘-;hort netes on (1} Optlcal square {1) F‘leld book

U OR -

(b) o Wnte short notes on {1} Obstacles in ehammg {u] Pnncmle of worklng from
whoie to part _

.3:-13 fa‘l Desenbe m det'm abeut three pomt preblem AISO add a short note on lecal
B attrattlon G AL S B R :

.::j_ W nie SHOE HEHE oh s B

_ (il Trueand magnetic bearing T - :

" (i) Advantages and dlsadvantages of Plane tabhng

¥ o ___'14 {a} :erte short notes on [1] Reumocal Lemellmg {ul Metbods of contourmg
o2 {b} fhe foHowm perpend1cu1ar offsets were’ taken from a cham hne to a hedge

Chamagc B N B ST 76 T80 T 100 [ 120 -141.: |
~Olfsetsim] | 7.60 | 855 [ 107 | 128 | 106 [ 95183 | 7.5 | 64 [ 44

“Calculate the area between the survey lme the hedge and the end offsets by
a}Trapezoxdal rule b} S1mpeon s mle

: '-15 [.—_1} Two tanventq mtersect at chamage ::9+60 the deﬂectlon angle bemg : i
Pl 50030, Calculate the necessary data for eettmg out a curve of 15 chains rachus to
~ “ connect the two tangents. if it is intended to set out the curve by offset from
- chords. Take peg mtcrvai equals to 100 Imks length of the chain bemg equal to20
: .metl €s (100 lmks] :
by Write short notes on’ {a} Cwomﬁter & Edlocrrapﬂ [;1) Ceyicm Ghat tracer &.
G __-',‘—Bps TCLeD . . ; -
. ' {4}( 10 = 40 Mar ks |
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